k’jy WE GOLF THE WORLD
WAGC7 25 —=I\>F1FvvI d0D
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*1754 b HLBHAN-95T7-460-2
RANK PLAYER GROSS PLAYING-HC HC-INDEX NET
1 FEaK 1’ 74(35,39) 3 3.5 71
2 =k IER 72(37,35) 0 1 72
Bk, WAGCT > A —)\>F71Fry T TIVT- v/ Tr4F)L (9BS5H./PGM#RLTINIIST - FEEIR) NEHNSRE
3 B 1818 79(40,39) 4 4 75
4 Z 84(42,42) 5 5.3 79
*2751€4 b
RANK PLAYER GROSS PLAYING-HC HC-INDEX NET
1 B —R 83(44,39) 10 9.2 73
2 Al ¥ 84(39,45) 9 9 75
3 AP B 82(40,42) 5.7 76
4 T ETE 86(44,42) 10 9.7 76
5 R Al 84(42,42) 6 6 78
Bk, WAGCT > A —)\>F71Fry T TIVT- v/ Tr4F)L (9BS5H./PGM#RLTINIIST - FEEIR) NEHNSRE
6 At A 86(40,46) 8 8 78
7 PBME & 89(43,46) 11 10 78
8 CIEN 85(42,43) 6 6.4 79
9 Eix B 87(44,43) 7 6.7 80
10 HMH FMIE 92(44,48) 7 7 85
11 =iF X 96(47,49) 11 10.4 85
12 mEC 94(51,43) 6 6.4 88
13 Fatt 82 98(44,54) 10 9.1 88
14 7 Bz 96(45,51) 6 6 90




*3731 b

RANK PLAYER GROSS PLAYING-HC HC-INDEX NET
1 1RIE % 84(43,41) 14 12.7 70
2 Bk R 85(43,42) 13 12.2 72
3 A —% 90(46,44) 17 15.4 73
4 BE #—H0 87(42,45) 12 11.4 75
5 £P9 f2— 91(46,45) 14 13.4 77

BUE. WAGCT 29— I\>F 4y T TN T- v T74 L (958 /PGMBRTINIHST - FEIR) AEHIRE
6 A 86(42,44) 8 11.9 78
7 IR 90(46,44) 12 11 78
8 R 3] 93(47,46) 15 14.3 78
9 A LU 90(45,45) 11 14.2 79
10 =R BT 90(48,42) 9 12.7 81
11 Wil #EDF 92(42,50) 11 14.5 81
12 a1E 5% 94(51,43) 12 11.7 82
13 e B 98(51,47) 13 12.2 85
14 B 102(51,51) 16 15.2 86
*x 4754~

RANK PLAYER GROSS PLAYING-HC HC-INDEX NET
1 BEE— 88(43,45) 17 15.7 71
2 == fitk 94(51,43) 21 19.7 73
3 KA B2 93(47,46) 17 15.9 76

BUE. WAGCT 29— I\>F 4y T TN T-Sv)8T74 L (958 /PGMBE TN IHST - FEIB) AEHIRE
4 7RA 92(44,48) 13 16.4 79
5 & T 93(45,48) 14 17.9 79
6 RI% f= 99(51,48) 17 15.9 82
7 =& B 100(48,52) 17 15.9 83
8 R BET 99(48,51) 12 15.6 87
9 1Bk 5% 101(47,54) 13 16.9 88
10 TS 101(50,51) 13 16.9 88
*5751€ b

RANK PLAYER GROSS PLAYING-HC HC-INDEX NET

1 KE P& 94(46,48) 24 22.4 70
BUE. WAGCT > —I\>F 4y T TN T- v T74 L (9858 /PGMBE TN IHST - FEIR) AEHIRE
2 ok A | 113(56,57) | 24 22 89
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